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To exclude an informer, etc. — 5912 0 WYY

OVERVIEW

The X mx states that the X1»n of X»n 27 is excluding 739m 10w, they are not
included in his PP mar.' It seems evident from the ensuing discussion in the
X7m3, that 239m 70w are similar in P7 to the other MaX in regard to payment;
however "1 1s not discussing these types of 1°2°11. Based on this (and the previous)
WIWN?, it seems that the R1»n is excluding items that have the same ruling;
however they are not comparable to the type of categories to be enumerated.’
MBoIN anticipates, therefore, two extreme questions.
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The X713 could have said that the X311 of 11"7 is coming to exclude 2213, and the

thirty o°7pw payable to the owner of a slave who was gored to death® -
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And the reason 11"7 did not mention these two is because 11"7 was not discussing

damages which involve Killing. The X3 could have said this exclusion and the
accompanying reason, but chose not to.

mooIn now returns to discuss the two cases that were excluded from the max of 119, namely 701
230m). The X3 discusses why 23911 701 were omitted from the 7"77 maR. Mdon anticipates the
following question. Perhaps they were not mentioned since "1 maintains that a 10m is Mws.” A
701 merely causes the damage indirectly; he does not do any damage himself. This is considered
(at most) m73 — a cause. According to some opinions %73 is MWD. MBOIN responds to this

question.
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''n"9 is not discussing o'w7p (this excludes 2301) and damages resulting from 712°7 (this excludes 101).
2 If H30m 701 would have a different 17 (or be MWy), then it is obvious why 11" does not include them.
? See also previous "0 71"7 Moo, We are not excluding items which are not liable for damages, etc.
5,80 [Dwown] Mnw. 1913 is the money the owner of a T¥n MW (who previously killed three people) has to pay (as
an atonement) to the o°w 1 of the one who was killed by the 7y Mw.
% 25,80 [o*wown] nw. If a 79wn M kills an *1v30 72y the owner of the MW must pay the owner of the 113 72y thirty
2»pw (and the ox must be stoned to death).
% There would be no question if the "7 *0Wwn? is excluding 1" that are Mwd; for @ ww 1913 are obviously 2°2n
Xn»x71. However since we are excluding 1p°ma that are 12711 (but do not fit the proper type), then we should rather
exclude 0w 1913 which are definitely 21, than excluding (3971) 101, which may not be 211 according to the
AT RIPT PRI R?77"n.
"It is apparent from a later (17°b 71"7 X,p A7) Moo that 30 is considered a 7wyn not a *»73. The question here is
only concerning 101; NN mentions 2307 because he is using the expression of the X7,
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And concerning 93521 791%2; even according to the one who does not implement

the rule of %93, nevertheless the (93911) 20 -
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is liable to pay for his damage on account of a B3P as is stated in X3 b1 po.}
Therefore a reason is required as to why "7 omitted them; which the X3n3 offers.

SUMMARY

The X713 could have stated that the 197 X1™n excludes 72y Hw wHwy 1910 and
they are not mentioned for 11"9 is not discussing damages which involve killing.
(930m7) 70 are 2°°17 even MAIAT RIPT I°RT X927 7% on account of 0Ip.

THINKING IT OVER
If we are not "7 X°7 PXT why do we give a 01p to the 10m?’

8 See n"m1 on this 7wpn 73M 7"72 'on who explains how we derive this from the X3 in (2,70p) X702 5107
? See *"w1 in NDIP X1 77""72 R,TP X2 2N, See n''ma.
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